R

A~&ia

11&E 21& 3f&E 4(&E 5{& 6f&
AT 8:25] 10:15] 13:15] 16:15] 18:10] 20:05
t=fEtaoa
F=®NSATIL
BIRET
BEOF>EEDE
BB4ESRDEDH
Y=
/it
TRES _ = -
TR/ 53 43 43 43|
[FEDR 55 45 45 45| E?
B A 57 47 47 47| © ]
o EED 9:01 51 51 51| P Pt
EASDHREE 3 53 53 53] A N
AT 6 56 56 56| o D
[ ERVAEIES:E 8 58 58 58 % %
LD 9 59 59 590 n
L FEs AL 12| 11:02] 14:02] 17:02| o
TLUE/NER 13 3 3 3
TRER 5 5 5 5| 7 »
/MR 17 7 7 7
BRE->RDEDS 19 9 9 9
1A 23 13 13 13
S LN\—4 T ERE
BIERE 25 15 15 15
NS TR 27 17 17 17
AE 9:45| 11:35| 14:35] 17:35

+iH

1@ 2@ 3E 4@ 5(E
AT 8:25| 10:15| 13:15] 15:10[ 17:00

B~2EAEED EDDFH




